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The REAL Cost of Commercial Tobacco

Activity:  Average cost of one pack of cigarettes = $9.00

What if you smoke one pack a day for one week?


$9.00 x 7=


What if you smoke two packs a day for one week?


                          $9.00 x 2 x 7=[image: ]


Now take that times four weeks in one month.


One Pack[image: ] x 4 =[image: ]

Two Packs[image: ] x 4 =[image: ]


Now take those amounts times 12 months in one year.


One Pack[image: ] x 12 = [image: ]

Two Packs[image: ] x 12 =[image: ]
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